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class Car
{

private:
char model[10];
char* manu;

int vol ;

('P3 5) . Car VPPN MM DD NN VAPNNONIA NI N
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#include <iostrean>

using namespace std;

class A
{
int al;
int* a2;
char* s;
public:
A(int al=0, int* a2=NULL, char* s=NULL) : "al(al), a2(a2), s(s)
{}
int getal() {return al;}
int* geta2() {return a2;}
char* get S() {return s;}
~A()
{
(*a2) ++;
s[0] = "a';
}
}s

void main()

{
int al=10, a2=10, a3=30;
char str[] = "Good Luck!";

A* arr[4];

arr[0] = new A(al, &2, str);

arr[ 1] = new A(a2, &l, str+2);

arr[2] = new A(al, &3, arr[1]->getS()+3);
arr[3] = new A(*arr[0]->geta2(), &l, str+al-5);

for (int i=0 ; 1 < 4 ; i++)
{

cout << arr[i]->getal() << "\n";
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cout << *arr[i]->geta2() << "\n";

cout << arr[i]->getS()+2 << "\n";

for (int i=0 ; i < 4 ; i++4)
{

delete arr[i];

cout << al << endl;
cout << a2 << endl;

cout << str << endl;
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library ieee;

use ieee.std_logic 1164.all;

entity myff is port(
d, clk, rst, prst : in std_logic;
q : buffer std _logic;
qn: out std_logic);

end;

architecture ff of myff is

begin

process(clk)

begin

if clk'event and clk ='0' then
if rst ='0' then q<="'0';
elsif prst ='0' then q<='1";
else ¢ <=d; end if;

end if}

gqn <=not q;

end process;

end;
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. myff onpn Mpa vonwnw (tar51) Xan Tpin P .a
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(P 7) .nmn tarS1 N0 Y-OY IINY
library ieee;
use ieee.std_logic_1164.all;
entity tar51 is port(
clk, cIr, set, a, b : in std_logic;
X, y : out std_logic);
end;
architecture one of tar51 is
component myff is port(
d, clk, rst, prst : in std_logic;
q : buffer std_logic;
gn: out std_logic);
end component ;

signal bb,q,yy : std_logic;

begin
bb <= a oryy;
ff1: myff port map (not a xor b, clk, cIr, set, x, yy );
ff2: myff port map (not bb, not clk, clr, set, y, open );
end;

(') 8) .(assert n1tya RN NPT H19). myff nonn avay TEST BENCH 215 .
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library ieee;
Use ieee.std_logic_1164.all;

entity tarél is
port (a,b,c,d : in std_logic ;

sell, sel2, sel3, sel4 : in std_logic;

Z: out std_logic);
end ; “

architecture one of tarél is
begin

Process (a, b, ¢, d, sell, sel2, sel3, sel4 )
Begin
Z<=17;
if sell =1’ then Z<=a; end if;
if sel2 ='1'then Z<=b; end if;
if sel3 =1’ then Z<=c; end if;
if sel4 =1’ then Z<=d; end if;
end process;
end;

architecture two of taré1 is

begin
Z <= awhen sell =0’ else
b when sel2 = 0’ else
¢ when sel3 =10’ else
d when sel4 = '0’ else 'Z;
end;

configuration tst of taré1 is
for one
end for;

end tst;
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library ieee;
use ieee.std_logic 1164.all;
entity tar81 is port(
clock, reset, x : in std_logic;
q: out std_logic_vector (1 downto 0));
end; .
architecture test81 of tar81 is
type state type is (a,b,c,d);
signal nextst, crtst : state_type;
begin
seq: process(clock, reset)
begin
if reset ='1' then crtst <= a, -1
elsif clock' event and clock ='1' then crtst<= nextst;
end if}
end process;
comb: process (crtst, X)
begin
case crtst is
when a =>
if x ='0' then nextst <= a; y <="00";
else nextst <=b; y <="01"; --2.
end if}
when b =>
if x ='0' then nextst <=c; y <="01";
else nextst <=d; y <="11";
end if;
when ¢ =>
if x ='0' then nextst <=b; y <="10";
else nextst <=d; y <="00";
end if;

when d =>
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if x ='0' then nextst <=d; y <="01";

else nextst <=a; y <="10";

end if;
end case;
end process;
end;
('Py 4) .7N2VWN NN PN) tMoore W Mealy »non NNoONN OXN N
('P3 8) .NNONN OV (PMY? NHPNINT) DXIANN MNVNITLVIVY  .a
('Py 8) MIsPaTaoN A
M 1 anmn DX 97nn? na onn -
if reset ='1' then crtst <= s0; y<="00"; --1

NN 2 ANINN DN D'O'™7NN WD UiNMmA 'Y W' OND -

elsif x="1' then nextst <=b; y <="01"; --2

13 ymm 11 Ty



90729 : oONRY

CLOCK
JLUurL

.

9 nYNVY
: N2N RN NN NNenY VHDL-2 Axdmn noon 1no

D

>CLK

&

-

—o

-

(DrA22'7TD 019'XY7 RESET qoin? w') RESET ,CLOCK : nan -
Q:,Q:,Q : o'x¥xm -

(3 10) . PROCESS nmitya Daynn 1NN nnoni NN 2N .X
120 D »on (FLIP FLOP ) 29357 — 25992 vindw NItya 15NN DN 21N .2

(P31 10) :

NN NYIAL 29D

INPUTS OUTPUTS

D RESET CIK Q QN
1= 0 X 0 U
v 1 0 0 Y
" By 7 By 0

component -3 N 25392 NVNWNN NPYNIN NNIM 235957 INND NNON 1N v

13 3nn 12 Tmy




90729 : ONY
10 NNV

: N2 NN NN NN VHDL-2 Axdn nnon 2mno

Qp

Do Q yu——

D> CLK

>OLK

G,

CLOCK @
it
*—&

(o7t 0o19'X? and1'ox RESET  qoin? w) RESET ,CLOCK : nian -

Q:.,Q:,Qp : D'xxm -

(PROCEDURE) n711781993 v NItV 2avnn 9NN 795Nn IX 21N0 .N

('3 10 ) :N NYAV XY T2WN D NON DT NVHND

INPUTS OUTPUTS
D RESET CIK Q QN
0 X 0 iy
o T 7 0 0
oY 30 7 G0 0

. ARCHITECTURE -n 3ma miIm¥nosn AX 2ndY7 [N nwn

DIRECT 201 02810 NN NNV NIORIVIPNS N 20YN7N NNOND 70N 2100 .2
(' 10) (FULL MOORE) MOORE

. 0N D2AXNN ‘NN

000(reset), 100, 110,111, 011,001,000, 100. ..

Innbsna
07Ny MNMNIY MIMIYH Y5O

139nn 13 Tiny



